Kapitel 11

Schiitztheorie
(Losungen)
2.1.
Wir haben:
n=100, x=54.55 0°=0.26, a=00l.
Es gilt:
0| 54.55-2.576 3220 54.55+2.57607%20
V100 V100
=[54.55-0.13, 54.55+0.13] =[54.42, 54.68]
2.2,
n=1500, x=269720, o0 =68650, @ =0.0l.
uO {269720 25752390 269720 +2.575 500 } =[265155.72, 274284.28].
V1500 V1500
2.3.

T = 203+195+193+193+193+188+185+184+172+170+162 _ 2038
11

=185.27

s = \/%[(203—185.27)2 +(195-185.27)" +...+ (162 —185.27)*]
=V154.818 =12.443

yD[185.27—1.812 295 18527 +1.812 2'443}:[178.47, 192.07]
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n=10, x=1600, s=250, a=0.05.

50 50
U} 1600 —2.262 BZ—, 1600 +2.262 BZ—]: 1421.17, 1778.83|.
. [ V10 V10 [ ]

2.
n=10, x=1600, s=250, a=0.01.
um{moo—&zso%, 1600 +3.250 E}%} =[1343.06, 1856.94].
2.5.
L.
j7in [5.67 -2.262 G%, 5.67 +2.262 B(\)/%} =[5.262, 6.078].
2.

5.50[5.262, 6.078].

Die Behauptung ist richtig.
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